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Sr Questions Answers Choice

1 In Sindhi woman's tread, there is no ripple.
A. Maker
B. Beker
C. Stagger
D. Beggar

2 Stone , garbage, excrement and crumbs.
A. pebbles
B. waste
C. wood
D. trees

3 "Who learn to walk beneath a weight?"
A. Along
B. Over
C. Beside
D. Under

4 The Sindhi Woman was gliding through the bazaar.
A. Flying
B. Going smoothly
C. Running
D. Swimming

5 I, with my stoop reflect.
A. think
B. ask
C. look
D. Criticize

6 The Sindhi Woman was walking with undulant grace.
A. Like boughs
B. Like daffodils
C. Like dolls
D. Like waves

7 In which light children enter to buy fruit.
A. Lantern
B. Lamp
C. Moon
D. Bulb

8 The moon compacted to a a rind.
A. Widened
B. Burnt
C. Broken
D. Packed

9 Radiant as lanterns, they forget.
A. Red
B. Bright
C. Glowing
D. Hard

10 The fruit glowed red hot form within.
A. Grew
B. Ripened
C. sparkled
D. Fell

11 Did you see that shape in the twisted trees.
A. Thin
B. Thick
C. Tall
D. Knotty

12 Yonder's the midden whose odour will madden.
A. Pressrue
B. Effect
C. Fragrance
D. Bad smell

13 Yonder's the midden whose odours will madden.
A. fifth
B. Flower
C. Plant
D. Shrub

14 The valley is fatal when furnaces burn.

A. Far away

B. Fantastic
C. Deadly
D. Immortal

15 That valley is fatal when furnaces burn.
A. Disastrous
B. Beautiful
C. green
D. Fertile



16 The age of a man is___________ according tot he Good book.
A. 50 years
B. 60 years
C. 20 years
D. 80 years

17 Cherry tree glorifies.
A. The environment
B. the life
C. The mind
D. The city

18 The poet has lived a score of springs.
A. Ten
B. Twenty
C. Forty
D. Fifty

19 Is hung with boom among the bough.
A. Road
B. Branch
C. Sticks
D. Leaves

20 The cherry is hung with bloom along the bough
A. Branches
B. blossom
C. Stem
D. Twig


